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Financial Management
Paper : MCOM-04

Time : 1% Hours | [ Maximum Marks : 80

Note .— The question paper is divided into two Sections
A and B. Write answers as per the given
instructions.
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Section—-A 4%x4=16
(Very Short Answer Type Questions)

Note .— Answer any four questions. As per the nature of
the question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 4 marks.

MCOM-04 / 7 (1) 163 Turn Over

QUE—H
(afa oy ST )

o - fF=l 9 g & SW JfSul o9 et ST Rl
YITER U VeE, Uk o A1 Sifuekan 30 visal A
i I Y 999 4 3R 1 B

1. (1) Mention any four characteristics of Financial
Management.
fodfta gore =1 frsl =R foRomsti &1 Seore
FHITST |

(i) What do you understand by Project
Planning ?
RS RS 9 3T e g9 2

(iii) What is meant by Implicit Cost of Capital ?
Sl i ST ARG H 3TIHT N AW § 2

(iv) Mention any four objectives/significance of
Capital Budgeting.
It ated & fFdl 9 3REdi/Ted @ S
T |
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(v) What is the formula of computing Working 2. Examine the features of Optimum Capital
Capital ?

FEISE Yot T MO FA B N GT § 2

(vi) Mention any two names of theories of Capital

Structure.

ATHAT St T=T w1 faRremmstt ®1 Wi wifte |

3. Throw light on the Long-term Sources of Funds.

Structure.
Toft "o & Rl S fagra & A a1 Seo IS % QIHRIG Bl TR YHTeT I |
UERY 4. A project costs ¥ 15,000 and has a scrap value of

(vii) What is ‘VED’ Analysis ?
‘“VED’ faweioor &= & ?

T 3,000. Its stream of income before depreciation
and taxes during first five years is ¥ 3,000; ¥ 3,600,

(viii) What is meant by Dividend Policy ? 34,200, ¥ 4,800 and X 6,000. Assuming tax rate at
AT AAfd IR FN AR T ?

Section-B 4x16=64

50% and depreciation on straight line basis,

calculate the Average Rate of Return for the

(Short Answer Type Questions) project.

Note -— Answer any four questions. Each answer should not

T AN &1 @Ftd 15,000 T s@RTe 9e3 3 3,000

exceed 200 words. Each question carries 16 marks. ) ] ]
T T g9 W@ R Y qd yyg ufg aui § e @

gug—d
(=g e T Jare e I 3,000, X 3,600, X 4,200, I 4,800 T«
D Y 6,000 g1 Ui & faU od Yo g &1 MO
e 200 v # REfig FRT Y9 g € A EU HIWY foh ST &t <X 50% & a4 g
16 3Tt *1 ) et Yen ugfa @ emafafed fwar S 2
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5. Following information is available with regard to 6. (@) Distinguish between Operating Leverage and

the capital structure of Rajasthan Breweries Ltd : Financial Leverage.
Sources of Amount |  After Tax IR=TeH StieTs Td foxia Stileies § 3= Shifs |
Funds ® Cost of Capital (b) A company has the following capital
Equity Share Capital 3,50,000 12 structure - ®)
i Earni 2 1 .
Retained Earnings ,00,000 0 10,000 Equity shares of
Preference Share Capital [ 1,50,000 13
% 10 each 1,00,000
Debentures 3,00,000 .09
2,000 10% Preference shares of

You are required to calculate the weighted average

cost of capital 2 100 each 2,00,000

Tore el fo. &t gt de % sR | faeitea 2,000, 10% Debentures of

e Suey ¥ % 100 each 2,00,000
el Tt W W The amount of EBIT is ¥ 1,00,000. The

el () dsft =T company is in 50% tax bracket. You are

TEa sie geft 3,50,000 12 required to calculate the financial leverage of

gfqemRa s1eiA 2,00,000 10 the company.

st o7er USi 1,50,000 13 =t 9 #R ¥ @ & @ (EBIT) % 1,00,000 ¥

ESULE 3,00,000 .09 FEAT 50% T H ST T 1 SAIen! HEa & fadia

3T it 1 WIRA 3T oFa i TOMAT AT T ITIeTeh T TUET AT
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7. Explain the determinants of Working Capital.
FEA Isit & fufw Tesi & T wifsu

8. Discuss the factors determining the level of cash.

ks TR HT R0 F T ST H1 RAT BT

9. “Finance is the life blood of Industry.” Elucidate
this statement in the light of significance of

Financial Management.

“fom SEM w1 STed A Bl TR we & Hew &
TSl U 59 HYT hi foa=m1 hifeq |
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